C:# Finding Product (3 x 3) Name:

Solve each problem. Answers
1) In{NYC} each mail truck has 678 pieces of junkmail. If there are 253 mail trucks, how
much junk mail do they have total? 1
2.
2) A video game company can fit 537 boxes of gamesinto atruck. If they have 658 full
trucks, how many boxes of games do they have total ? 3.
4.
3) A vat of orange juice contains the juice from 872 oranges. If acompany has 585 vats, how
many oranges would they use to fill them all? 5.
6.
4) A pizzachain uses 567 grams of cheese on their pizzas. If they sold 633 pizzas, how many
grams would they have used? 7.
8.
5) A coat manufacturer puts 277 coats in a shipment. If they sent out 353 shipments, how
many coats would they have sent out? 9.
10.

6) A gasstation sells 817 gallons of gas an hour. How much gas would they have sold after
883 hours?

7) A race was 254 meters. |If 684 people ran in the marathon how many meters would they
have run total?

8) Billy was collecting cans for recycling. In 5 months he had collected 173 bags with 820
cansinside each bag. How many cans did he have total ?

9) A cruise ship compartment can hold 458 pieces of luggage. If aship had 115
compartments, how many pieces of luggage can it hold?

10) A lawn mowing company had 745 customers. If each customer paid 735 dollars ayear,
how much money would they make?
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ﬂh Finding Product (3 x 3) Name: Answer Key

Solve each problem. Answers
1) In{NYC} each mail truck has 678 pieces of junkmail. If there are 253 mail trucks, how
much junk mail do they have total? 1 171,534
2. 353,346
2) A video game company can fit 537 boxes of games into atruck. If they have 658 full
trucks, how many boxes of games do they have total ? 3. 510,120
4. 358,911
3) A vat of orange juice contains the juice from 872 oranges. If acompany has 585 vats, how
many oranges would they use to fill them all? 5. 97,781
6. (21,411
4) A pizzachain uses 567 grams of cheese on their pizzas. If they sold 633 pizzas, how many
grams would they have used? 7. 173,736
s. 141,860
5) A coat manufacturer puts 277 coats in a shipment. If they sent out 353 shipments, how
many coats would they have sent out? 9. 52,670
10. 247,575

6) A gasstation sells 817 gallons of gas an hour. How much gas would they have sold after
883 hours?

7) A race was 254 meters. |If 684 people ran in the marathon how many meters would they
have run total?

8) Billy was collecting cans for recycling. In 5 months he had collected 173 bags with 820
cansinside each bag. How many cans did he have total ?

9) A cruise ship compartment can hold 458 pieces of luggage. If aship had 115
compartments, how many pieces of luggage can it hold?

10) A lawn mowing company had 745 customers. If each customer paid 735 dollars ayear,
how much money would they make?
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C:# Finding Product (3 x 3) Name:

Solve each problem. Answers
141,860 171,534 721,411 353,346 52,670
510,120 173,736 97,781 358,911 547,575 1
1) In{NYC} each mail truck has 678 pieces of junkmail. If there are 253 mail trucks, how 5
much junk mail do they have total? '
3.
2) A video game company can fit 537 boxes of games into atruck. If they have 658 full
trucks, how many boxes of games do they have total ? 4.
5.
3) A vat of orange juice contains the juice from 872 oranges. If acompany has 585 vats, how
many oranges would they use to fill them all? 6.
7.
4) A pizzachain uses 567 grams of cheese on their pizzas. If they sold 633 pizzas, how many
grams would they have used? 8.
9.
5) A coat manufacturer puts 277 coatsin a shipment. If they sent out 353 shipments, how
many coats would they have sent out? 10

6) A gasstation sells 817 gallons of gas an hour. How much gas would they have sold after
883 hours?

7) A race was 254 meters. |If 684 people ran in the marathon how many meters would they
have run total ?

8) Billy was collecting cans for recycling. In 5 months he had collected 173 bags with 820
cansinside each bag. How many cans did he have total ?

9) A cruise ship compartment can hold 458 pieces of luggage. If a ship had 115
compartments, how many pieces of luggage can it hold?

10) A lawn mowing company had 745 customers. If each customer paid 735 dollars a year,
how much money would they make?
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